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Example 1

YWhat percentage of the Total Revenue was Cost of
Sale in September?
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Example 2

If 380 outlets produced the Movember revenue,
how many outlets were there in December?
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Question: 1
Projected Consumer Goods Exports
“EDD i B Hong Kong YWhat percentage of projected consumer goods
E 500 exports fram both countries in Y41 is attibutable to
E 120 | @ singapore Singapore?
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Exchange Rates for Year Y
%4.50 Hong Kong Dallar (HKD) = $1 Singapora Dollar (SGO0)
£1.60 Singapore Dollar (5G0) = 1 US Dollar (USD)
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Projected Consumer Goods Exports
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%4.50 Hong Kong Dallar (HKD) = $1 Singapora Dollar (SGO0)

£1.60 Singapore Dollar (5G0) = 1 US Dollar (USD)
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Question: 2

YWhat is the projected percentage increase in the
combined consumer goods exports for both Hong
Kong and Singapore between Y and Y +47
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Projected Consumer Goods Exports

Question: 3

g

What is the projected ratio of Hong Kong to

Hong Kon . :
B Hong Kong Singapore consumer goods exports in Y447

450 | @ singapore

3

Hong Kong Dollar (million)

350
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Exchange Rates for Year Y

%4.50 Hong Kong Dallar (HKD) = $1 Singapora Dollar (SGO0)
£1.60 Singapore Dollar (5G0) = 1 US Dollar (USD)

MinLtes
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Company Figures at the end of the current financial year Question: 4
Ha:]tli::uw (:]I:{[;T Kiang IKOinc Aurore YWhich company has the greatest value of Assets

TUrHEver (Em) 114 1607 23 73 600 per share?

F‘r_ﬂ‘ﬂtfg'rﬁﬂ 9.2 =aa-4 -1.4 2.0 9.3

hssets Em 423 G401 252 271 1301 ° Hardiow plc

Dabtmy 97 30 17 82 308

ahare Price tpeance) 108.0 1721 6.0 1.3 48,7

Mo of Sharesgry 0.5 27 039 32 7.2

*m = milfions
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Company Figures at the end of the current financial year Question: 5
Ha:]tli::uw (:]I:{[;T Kiang [KOInc  Aurore If sormeone were to sell 3 500 shares in Hardlow
TUROVET (£m) 11 4 1607 tiRs 73 RO plc, how many shares of Aurore could they buy with
Profitgm) 92 -333 18 30 93 thE BIORRCT e L el
Assets @ 423 B40A 252 270 1304
Dabtmy 97 30 17 82 308 o Tt
ahare Price tpeance) 108.0 1721 6.0 1.3 48,7 o 15 762
Mo of Sharesgry 0.5 27 039 32 7.2
T o 35,000
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Company Figures at the end of the current financial year Question: 6
Ha:]tli::uw (:]I:{[;T Kiang IKOinc Aurore YWhat percentage of (KO Inc's Turnaver is Profit?
TUFNOET (£m™) 11.4 1607 3 .3 GO0
F‘r_ﬂ“ﬂtf;_'rﬁ_’f;::r 9.2 =aa-4 -1.4 2.0 9.3
Assets @ 423 G401 252 271 1304
Dabtmy 97 30 17 82 308
ahare Price tpeance) 108.0 1721 6.0 1.3 48,7
Mo of Sharesgry 0.5 27 039 32 7.2

*m = milfions
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Departmental Time Usage - Hours per annum

Time Used

Department {no. mﬁ:ll?:m Support [ Hew Product
nf employvees) Admin  Products Extensions

Resources
Engineeting is) 10,000 4 000 G 000 432
Teatical 16000 3,700 9,540 573
SENICES ()
Wiarketing (35 6,000 3,600 2,000 0
Specificationsy 6,000 3,000 2,000 33
Developmenti 8000 5,000 1,500 324

Minutes |
Remaining

Question: 7

If four products were extended during this year, on
average how many more hours were spent an each
axtension in Technical Senices compared to
specifications?
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Departmental Time Usage - Hours per annum Question: 8
_ Time Used On average how many more hours were worked par
Availahle

Department (no. Tinie Support /| New Product employee in Marketing than in Specifications?

nf employvees) RS Al oae Admin  Products Extensions

Engineeting is) 10,000 4 000 G 000 432
Technical 16,000 3700 9,540 673
SENICES ()

Marketing (3 6000 3,500 2,000 0
Specificationsy 6,000 3,000 2,000 33

Developmenti 8000 5,000 1,500 324
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Departmental Time Usage - Hours per annum Question: 9

Titie Laed If available time resources in Enginesring increase
Support !  New Product by 10% in the next year, how many new products

Admin  Products Extensions will be launched?

Availabhle
Time
Hesources

Department {no.
nf emplovees)

Engineeting s 10,000 4 000 G 000 432
Technical 16,000 3700 9,540 573
SENICES ()

Marketing (3 6000 3,500 2,000 0
Specificationsy 6,000 3,000 2,000 33

Developmentis 8,000 5,000 1,500 324
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Operating Performance for International Paper Goods (IPG) Question: 10

EUR million) 1995 1996 1997 1998 10090 2000

Between which years did the largest percentage
Netsales 1600 2,958 2568 2,375 2,508 2,704 growth in =ales Margin occur?

g;j;tu_fgnntﬁ. 1,089 1,487 1EE1 1,508 1568 1716

Sales frardin 511 BT1 B8 887 927 083
Fined tosts 788 411 682 5T 692 595
Operating cash

222 260 304 289 337 297
fowe
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Test Minutes
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Operating Performance for International Paper Goods (IPG) Question: 12

EUR million) 1995 1996 1997 1998 10090 2000

Efficiency’is the Operating Cash Flow as a

Metsales 1600 2158 2568 2375 2508 2709 percentage of total costs (Goods Saold & Fixed
_ Costs). What was the efficiency of IPG in 15557

g;jlit”fg‘j”dﬁ- 1,089 1,487 1EE1 1,508 1568 1716

. 0
Sales fardin 511 671 888 857 027 093 o 16.1%

s
it costs. 289 411 582 678 592 596 O

Gperating cash 322 260 304 289 33 397 o 16.5%

iz
O
o Mone of these
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Regional Drug Sales: Tequental and Parnol
100% —
10% %

Resl

1m of World

80% - 19%

40%

20%

Tequental Parnol
(54,000 millicn) (%2,000 million)

MinLtes
Remaining

Question: 13

By volume Teguental sells at twice the price of
Famaol, What is the Tequental.Paral ratia in terms
af global volume sold?
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Regional Drug Sales: Tequental and Parnol
100% —
10% %

Resl

1m of World

80% - 19%

40%

20%

Tequental Parnol
(54,000 millicn) (%2,000 million)

MinLtes
Remaining

Question: 14

Approximately what percentage of all Tequental and
Parnol sales (in §) is in the Korean market?

O -
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Regional Drug Sales: Tequental and Parnol
100% —
10% %

Resl

1m of World

80% - 19%

40%

20%

Tequental Parnol
(54,000 millicn) (%2,000 million)

MinLtes
Remaining

Question: 15

Approximately what percentage of all Tequental and
Parnol sales (in §) are Tequental sales in Hong
kiong?

<
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Today's Exchange Rates* for the Bhutanese Ngultrum Question: 16

= ay ; : World
CIDS.""[J Tm! s Today's Change Bank YWhat was the Woarld Bank Index for Yen yesterday?
Point High Low on Day Index

sterling 7072 71,08 B8. 70 +0.42 BE.00

LIS Dallar:  43.52 4516 43.52 -0.80 43.14

(={F]gy 46,5 48.57 44,493 +1.65 44 28

TEr 0.40 0.43 0.38 -0.03 0.38

Yates 2 qusther of Mgalbnes per stated climemey
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Today's Exchange Rates* for the Bhutanese Ngultrum

World
Bank
Index

sterling 7072 71,08 B8. 70 +0.42 BE.00

Closing Today's Today's Change
Point High Low on Day

&d roaees OANANARAAAANARRL LI

LIS Dallar:  43.52 4516 43.52 -0.80 43.14

(={F]gy 46,5 48.57 44,493 +1.65 44 28

TEr 0.40 0.43 0.38 -0.03 0.38

Yates 2 qusther of Mgalbnes per stated climemey

Minutes
Remaining

Question: 17

If the exchange rates for Stetling and Euro continue
to increase every day by the same amount of
Mygultrums as taday, in how many more days would
a Euro buy mare Mgultrums than one pound
aterling?
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Question: 1

European Infiation Indices for 1998
(rebased to 100 at 1st Quarter) If the inflation index for Earnings at the 1st Quarter
(before rebasing) was 120, what would the

103
equivalent 2nd Cluarter figura be?
102
W O o
100 h_‘-h*

3rd dth il
r Quarter Quariar
% g9 ‘*_3 o 121.4
a7
i |

N,
= \\‘ o Mone of these
94

B Retail @ Earnings A Wholesale 4 Foods
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European Infiation Indices for 1998
(rebased to 100 at 1st Quarter)

103
102
101
100 "H_‘-hi.

45 it 2nd 3rd ath

% r Quarter Quarter

23]

a7 1\\‘

Be N

g5 \\‘

Q4

B Retail @ Earnings A Wholesale 4 Foods

MinLtes
Remaining

Question: 2

If the average family food basket costs 100 Euros at
Znd Quarter prices, how much will it cost at 3rd
(luarter prices?

o 101 Euros
o Cannat say
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Question: 3
European Infiation Indices for 1998

(rebased to 100 at 1st Quarter) Which Quarter saw the largest percentage increase
in Earnings through inflation?

103
102
101
100 "H_‘-hi.

45 it 2nd 3rd ath

% r Quarter Quarter

23]

a7 1\\‘

Be N

g5 \\‘

Q4

B Retail @ Earnings A Wholesale 4 Foods
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Question: 4
European Inflation Indices for 1998

(rebased to 100 at 1st Quarter) If the Inflation Indices were rebased at 100 again at

the 3rd Quarter, what would be the 4th Quarter
inflation index for Foods?

103

102
Wt —_— o (3441007100
100

& o5

3rd dih
r Quarter Quariar
% g8 ‘*_3 o (94/951+100
a7

T *
- ~ o (100/347*100

e
- \\‘ o Cannot say
94

B Retail @ Earnings A Wholesale 4 Foods
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Ethiopian Economic Summany Question: 5
1997 1998

Total GOF . What was the population of Ethiopia in the year
Eﬁ{ﬂﬂﬂ:mtlliﬂ'ﬁ}' RO.al a0:60 qa.08 Hd.81 0007
GDP per head of
pﬂﬁﬂléiiﬂh_ﬁ} 1,100 gal HE4 g7
CORgrowth perhead 4y pe  oppw  f00%  20%
[% change p.a)
Unamploymerit rate

(3% ofwoitdoroe) 9% 125% 10.0% 8.5%
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Ethiopian Economic Summany

Test
Progress Edﬂui j j i

1097 1098

Total GDF .

(4,000 millian) FOA0 &S00 &58.08° G489
GOP perhead of

population (5 1,100 880 953 qa7
GOP growth per head 0% o00%  10.0% o
(% changs p.a.) ' ' : -
Unemploymentrate | yge  q35%  qp0% 85%

(% of wotkforse)

Minutes
Remaining

Question: 6

YWhat would the GDP perworking person have been
in 1957, qiven that the warkforce was 55% of the
population?

280
ha00
1,000

2 000

Cannat say
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Ethiopian Economic Summany

Test
Progress Edﬂui] j i

1097 1098

Total GDF .

(4,000 millian) FOA0 &S00 &58.08° G489
GOP perhead of

population (5 1,100 880 953 qa7
GOP growth per head 0% o00%  10.0% o
(% changs p.a.) ' ' : -
Unemploymentrate | yge  q35%  qp0% 85%

(% of wotkforse)

Minutes
Remaining

Question: 7

Haow mrany unemployed people were there in 19595,
given that the warkforce was B0% of the population?

3,200,000
3,300, 0o
3,400,000
3,500 000

Mone of these
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Ethiopian Economic Summary Question: 8
1997 1998

Total GOF . What was the percentage increase in Total GOF in
E\}T}*’I{Um:mtl_liﬂ'ﬁ}' kl.a0 q0:60 58.08 E4.81 1999 gyer 19987
GDF perhead of
papulation (5) 1,100 aal HES 897
D eRRERE 0 00% 00% 20%
[% change p.a) ' ' ' '
Unempiloymeritrate

(3% ofwoitdoroe) 9% 125% 10.0% 8.5%
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Question: 1

Projected Consumer Goods Imports

=3 W usa YWhat is the projected ratio of LS4 to UK consumer
500 goods impords in Y+47
’g o 420 ® uK
= 400
= 360
E - 300
E 300
3
0 200
=
10—
w Bl E-I.'I_ _?.'-"'-_-_-_E.I]
0 ; L L ]
¥ ¥+1 ¥+2 Y¥+3 Y44
Year
Exchange Rates for Year Y

SUSD 1.65 = £1 Stering
EUR 1.55 = E1 Starling
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Projected Consumer Goods Imports

B usa

® uK

300

u 1 L L ]
Y ¥+1 Y2 Y¥+3 Y44
Year
Exchange Rates for YearY

SUSD 1.65 = £1 Stering
EUR 1.55 = E1 Starling

MinLtes
Remaining

Question: 2

YWhat is the projected percentage decrease in the
combined consumer goods imports for both
countries between Y and Y+47
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: Question: 3
Projected Consumer Goods Imports
- W ush At ane time USA's consumer goods imports were
. projected to decrease at 20% per year from Y +2
. 450 ® ux amwards, According to this projection, what would
.'E':. 400 be the value {in $m USDY of USA's impors in Y+47
E 300
E 300
&
s 200
>
100 g
I I e
D 1 L L 1
¥ ¥+1 Y+2 ¥+3 ¥+4
Year
Exchange Rates for YearY

SUSD 1.65 = £1 Stering
EUR 1.55 = E1 Starling
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Company Figures at the end of the current financial year Question: 4
Ha:]tli::uw (:]I:{[;T Kiang IKOinc Aurore YWhat percentage of (KO Inc's Turnover is Profit?
TUrNOWEr Em™) 114 1607 23 73 BOO
F‘r_ﬂ‘ﬂtfg'rﬁ_’ﬁ 9.2 =a3-4 -1.4 2.0 9.3
Assets @ 423 G401 252 271 1304
Dabtemy 97 30 A7 82 308
ahare Price tpance) 108.0 1721 6.0 1.3 48,7
Mo.of Sharesgry 0.5 27 039 32 7.2

*m = milfions
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Test [il : Mirtes |
Progress T PRRRPRRRRFRTROTT Remaining
Company Figures at the end of the current financial year Question: 5
Hardlow GRT e
plc plc Kiang IKOinc Aurore YWhich company has the greatest value of Assets

TUrHEver Em) 114 1607 23 73 600 per share?

ProfitEm 92 <338 189 30 93

Assets Em) 423 B40A 252 271 1304 “sww Hardiow plc

Cishtiemsy 9.7
ahare Price tpance) 108.0
Mo ofShates gy 0.5




; Online Numeracy Test - Microsoft Internet Explorer

Test finute
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Company Figures at the end of the current financial year Question: 6
Ha:]tli::uw (:]I:{[;T Kiang IKOinc Aurore If sormeone were to sell 3 500 shares in Hardlow
TUPROVET (£m) 11 4 1607 yiRs 73 RO plc, how many shares of Aurore could they buy with
Profitgm) 92 -333 18 30 93 gt e
Assets @ 423 B40A 252 271 1304
Dabtemy 97 30 A7 82 308 o =i
ahare Price tpance) 108.0 1721 f.0 1.3 48,7 o A 260

Mo ofSharesms 0.5 27 0.9 =15 73
o
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Orders Placed with A.H. Engineering Question: 10

Undercarriage

Turbine Blade  Gyroscope Piston If the exchange rate for the LS Dallar had increased
Eastiahds 13.200 il 145 by the same propartion as the Euro did between 1
Luftgut 2,700 71 a4 danuary and 1 April, how many Uz Dallars would
Mipor Air N 15 0 you have got to the Pound an 1 April?
Fussair 244l i 3l

Frontier 18,500 45 200
Price per unitie; £415 £20.500 LIRT

Exchange Rates for Sterling (&)

One pound (£) = 1-Jan 1-Apr
Eurg 1.44 1.450 1.52

Japanese Yan 23211 191.47 17681
LIS Dollar 1.70 1.61 1,61
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Orders Placed with 4.H. Engineering

Undercarriage

Turhine Blade  Gyroscope Piston
Eastlands 13,200 I 145
Luftgut 8,700 21 a4
Mippon Air i 15 0
Fussair 2450 fi a0
Frontiat 18,500 45 200
Price per unit (= £415 £20.500 L2187

Exchange Rates for Sterling (&)

One pound (£) = 1-Jan 1-Apr

Eurg 1.44 1.450 1.52
Japaness Yen 23211 191.47 17581
L= Dollar 1.70 1.61 1.61

Minutes
Remaining

Question: 11

YWhat percentage of the total price of the Eastlands
arder can be attributed to Undercariage Pistons?

o 0.08%
o 0.11%
P 075%
o 1.10%
o 7 54%
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Orders Placed with 4.H. Engineering

Undercarriage

Turhine Blade  Gyroscope Piston
Eastlands 13,200 I 145
Luftgut 8,700 21 a4
Mippon Air i 15 0
Fussair 2450 fi a0
Frontiat 18,500 45 200
Price per unit (= £415 £20.500 L2187

Exchange Rates for Sterling (&)

One pound (£) = 1-Jan 1-Apr

Eurg 1.44 1.450 1.52
Japaness Yen 23211 191.47 17581
L= Dollar 1.70 1.61 1.61

Minutes
Remaining

Question: 12

If Frantier increased their Unit Crder of Turbine
Blades by 7%, approximately how much would they
need to pay for Turbine Blades?

o 3,560,000
o £5,102 000
o £5.215 000
o £13,.220, 000
o £15 335 000
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Darwin Enterprises Financial Information Guestion: 13

Year1 Year2 _ _ _ _
Tuther Em?) 114 106 a5 If Darwin Enterprise’s Share Price/Incarme ratio had

rernained constant from Year 1 onvwards, what

HiEEmE ) 94 i 14 would the Share Price have been in Year 37
Assets (£ 423 28.7 326
Dt (Em) a7 5.5 178 o 1290
Profittargin (%) 80.70 29.25 12.94
Share Price {pence) 108.0 86 A 56 R o 25.7p
Mumber of Shares () 50 a0 a0
T “m=nufions o e
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Darwin Enterprises Financial Information Question: 14
Year1 Year2 . _

Tuthaver &) 114 105 a5 YWhich of the following farmulae has been used to
. calculate Profit Margin®
Income (£m®) 9.3 3.1 141 " !
Assets 423 28.7 326 o | , i
—— . nocomed( Turnover %
Crebt (Erm=) 9.7 6.5 17.8 i )
Profit Margin (%) 070 2925 1204 @GP Income/{Debt x 100)
Share Price {pence) 108.0 856 6.6
—— (Income/Debt) x 100
Murnher of Shares () 50 50 50

“m=nuions o (IncormeTurnover) % 100

H_::_-J Mone of these
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Darwin Enterprises Financial Information Question: 15
Year1 Year2 _

Tuther Em?) 114 106 a5 YWhat was the smallest percentage drop in Share
———— Frice and when did it ocour?
Income (£m®) 9.3 3.1 141
ASE:E’[S.{_Emﬂr_ 42.3 287 326 o v 4 Naar T (g%
e . ear ] to Yeard-
Dbt () 9.7 B.5 17.8 .
Profittargin (%) 80.70 29.25 12.94 = 0 ‘earltoYear2-21%
Share Price {pence) 108.0 856 6.6
—— Year 1 to YearZ2 - 22%
Murnher of Shares () 50 50 50

“m=nuions o Year2to Year3-21%

o Year2to Year3-34%
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Today's Exchange Rates* for the Bhutanese Ngultrum

World
Bank
Index

sterling 7072 71,08 B8. 70 +0.42 BE.00

Closing Today's Today's Change
Point High Low on Day

LIS Dallar:  43.52 4516 43.52 -0.80 43.14

(={F]gy 46,5 48.57 44,493 +1.65 44 28

TEr 0.40 0.43 0.38 -0.03 0.38

Yates 2 qusther of Mgalbnes per stated climemey

Minutes
Remaining

Question: 16

A trader buys Mgultrums with £15,000 Sterling at
the 'Day's High' rate. What is the maximum amount
af ¥Yen the trader could buy with these Ngultrums on
this trading day?

o 2,795 000
o 2,800,000
o 2,805 000
o 2810000
& 10nsoithese
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Today's Exchange Rates* for the Bhutanese Ngultrum Question: 17

= ay ; : World
CIDS.""[J Tm! s Today's Change Bank YWhat was the Woarld Bank Index for Yen yesterday?
Point High Low on Day Index

sterling 7072 71,08 B8. 70 +0.42 BE.00

LIS Dallar:  43.52 4516 43.52 -0.80 43.14

(={F]gy 46,5 48.57 44,493 +1.65 44 28

TEr 0.40 0.43 0.38 -0.03 0.38

Yates 2 qusther of Mgalbnes per stated climemey
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US Dollar (51,000 million)

s

= M W & M & = @

i

Test

el T

Compoil Subsidiaries
1982 1998 At
g7
5.0
4.5
2.8
23 2
.
08 0.9 1.0
Fxplarason Naleml  Petochemicaks| Esplocstion  Natesl  Palrechmcaly

o Ges a0 {0
Industry Sector (no. of companies)

L5 Giam (48] L2t

W Revenue

B Operating Profit

MinLtes
Remaining

Question: 19

The total growth in Rievenue for the Petrochemical
sector between 1992 and 1993 iz equivalent to what
constant annual rate of growth?
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uestion: 1
Projected Consumer Goods Imports 4

- B usa What multiple of UK imports are USA imports warth
i when calculated in ELIR rather than $USD in year
450 i @ uk b s

2

350 230

—_

2
(N

US Dollar (million)
=

rm

70 80 7
U 1 L | 1
¥ Y+1 Y+2 Y+3 Y44 Mone of these
Year
Exchange Rates for Year Y

SUSD 1.65 = £1 Sterling
EUR 1.55 = £1 Sterling
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uestion: 2
Projected Consumer Goods Imports 4

- B usa Assuming a constant exchange rate, what is the
i projected appraximate value of combined consumer
» 450 i @ uk goods imports far both countries in Y+2 (in EUR
=
o
= 400
= a8 330 R
530 EUR400mM
°
o 200 EUR404m
-
m-n.._____‘_.______.______. ELR40Gm
0 80 80 - »
0 : - ; . ELR412m
¥ Y+1 ¥+2 ¥+3 Y44
Year Cannhot say
Exchange Rates for Year Y

SUSD 1.65 = £1 Sterling
EUR 1.55 = £1 Sterling
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Euros (EUR million)

Tidal
{231

eroarece INARMAAAANARARARNANANY

Greenco Subsidiaries

16
1994 2000

Wind Sotar Tidal Wind Solar
(18] (31 (20) 23] f2a)

Industry Sector (no. of companies)

B Revenue B Operating Profit

Minutes
Remaining

Question: 4

If revenue for the Wind sector as a whale decreased
by 15% between 1994 and 2000, by what
percentage has Greenco's share of the Wind
market grown?
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Euros (EUR million)

eroarece INARRAAANARARARNANANY

Greenco Subsidiaries

16
1994 2000

Tidal Wind Sotar Tidal Wind Solar
(23] (16} (31 (20) 23] f2a)

Industry Sector (no. of companies)

B Revenue B Operating Profit

Minutes
Remaining

Question: 5

Which Industry Sector in which year generated the
greatest Operating Profit per company?

Tidal in 1934
YWind in 1994
solar in 19594
Tidal in 2000
YWind in 2000

salar in 2000

00000
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Euros (EUR million)

Greenco Subsidiaries

16

16 1994 2000

B

6

4

2

0

sl Tidal Wind Solar Tidal Wind Sodar
’ {25} 116} (31 (20 {25) 23

Industry Sector (no. of companies)

B Revenue B Operating Profit

Minutes
Remaining

Question: 6

What propartion of total Greenco Operating Profit for
2000 was generated by the Zolar sector?
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Operating Performance for International Paper Goods {IPG) Question: 8
EUR million} 1995 1996 1997 1998 19 Far which year did Fixed Costs constitute the
el salas 1600 2158 2568 2375 2508 2.700 largest percentage of Met Sales?
g;lzt ofgoods 1089 1487 1661 1508 1568 1716 o 1G6E
Bales margin a11 b7 ook aeT H22 4493 o 1995
Fixed costs 288 417 682 &78 592 506 o 1997
T?Dpifatiﬂg Hsl 222 260 304 289 331 397 o 198
° 1999
o 2000
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' Test | Minutes
@ Progress l‘l‘“‘lﬂl‘l JA4044034443 Remaining ®

Operating Performance for International Paper Goods {IPG) Question: 9

EUR million) 1995 1996 1997 1998 19

If et Sales increased fram 1994 to 19595 by the

Met sales 1600 2158 24R3 2375 2408 2709 same percentage as from 1995 to 1996 what was
the ales Margin {in EUR m) in 19947

g;lzt”fg””dﬁ 1089 1487 1661 1508 1568 1716
Sales margin 557 b1 a86 =15ty 022 443 353m
Fixed costs 780 411 582 578 02 A0B 363m

Ciperating cash 379m

222 260 304 2849 ik a87
Tl

369m

Cannot say
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Departmental Time Usage - Hours per annum

Time Used

Department (ho. mﬁ::?:m Support |/ New Product
of employvees) Hisshurias Admin  Products ExXtensions
Engineering (s 10,000 4 000 6,000 432
Techiitel 16000 3700 9540 673
Semices )

harketing (3) 6,000 4,600 2,000 0
Speciﬂcatinns (3 6,000 3,000 2,000 a3
Development 8,000 5,000 1,500 324

Question: 10

If available time resources in Marketing increase by
10% in the next year, how many new products will

be launched?

200
220
2,000

2,200

c0000

Cannot say
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Today's Exchange Rates* for the Indian Rupee

World
Bank
Index

Closing Today's Today's Change
Paoint High Low on Day

f6.58 f6.85 54 96 +(.34 53.89

L5 Dollar  34.82 36.13 34.82 -0.64 34.51

37.29 28.96 35.94 +1.34 3542

0.32 0.34 0.30 -0.02 0.30

Yrates 2 numberof Rupee per stated cumeroy

Minutes
Remaining

Question: 13

If the Closing PointAYorld Bank Index ratio is
constant, what would the WWoarld Bank Index hawve
been far Yen yesterday?
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Today's Exchange Rates* for the Indian Rupee

World
Bank
Index

Closing Today's Today's Change
Paoint High Low on Day

stetling f6.58 f6.85 54 96 +(.34 53.89

L5 Dollar  34.82 36.13 34.82 -0.64 34.51

Euro 37.29 28.96 35.94 +1.34 3542

TEN 0.32 0.34 0.30 -0.02 0.30

Yrates 2 numberof Rupee per stated cumeroy

Minutes
Remaining

Question: 14

If the exchange rate for Yen decreases by the same
amount of Rupees tamorrow as it did today, how
many Rupees would 30,000 Yen buy?

Q) ::
@ o
O
o 9,100
O
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Today's Exchange Rates* for the Indian Rupee

World
Bank
Index

Closing Today's Today's Change
Paoint High Low on Day

f6.58 f6.85 54 96 +(.34 53.89

L5 Dollar  34.82 36.13 34.82 -0.64 34.51

37.29 28.96 35.94 +1.34 3542

0.32 0.34 0.30 -0.02 0.30

Yrates 2 numberof Rupee per stated cumeroy

Minutes
Remaining

Question: 15

A company changes $220 000 to Rupees at the
Day's High' rate to pay a debt of 8 muillion Rupees.
Appraximately what amount of Rupees is left over,
or still owing, following this transaction?

51,000 still owing
5,100 still owing

Mo mare owing ar over
5,100 left over

51 000 left aver
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Annual Air Traffic Question: 16

(1,000 million of passengers ) The average distance flawn per passenger within

Europe 5 years agowas 1 000km. Today this figure
has decreased by 20%. By how many percent has
the total distance travelled by flights departing in
Eurape changed today?

o B0% decrease
o 0% decrease
° Mo change

o 140% increasze
5 years ago Today o 2al% increase

B usa [ Asia-Pacific | Europe [l Rest of World
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Annual Air Traffic
(1,000 million of passengers )

5 years ago Today
B usa [ Asia-Pacific | Europe [l Rest of World

Minutes
Remaining

Question: 17

COwver the last & years by how many passengers did
the increase in European traffic exceed the increasze
in LI=A pagsengers?
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Annual Air Traffic
(1,000 million of passengers )

5 years ago Today
B usa [ Asia-Pacific | Europe [l Rest of World

Minutes
Remaining

Question: 18

What 5 the percentage increase in global
passenger air traffic aver the last & years?
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US Dollar ($1,000 million)

R @ = fn o =~ OB

= ot

]

@ F'rnngeEsS; JUAdaaaaaaaaddaaud

Compoil Subsidiaries

1992 1998

8.0

Eeploration  Maluml  Pelrechamicals| Esxploration  Matwsl  Patrocheiticals
() {ans (52] {0 L0 Gins (45) {4

Industry Sector (no. of companies)

M Revenue B Operating Profit

Minutes
Remaining

Question: 1

What proportion of tatal Compoil Operating Profit for
1995 was generated by the Petrochemicals sector?
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US Dollar ($1,000 million)

R @ = fn o =~ OB

= ot

]

Explarafion
(2

Test
eroarece IMAANARAANARARARNANANY

Compoil Subsidiaries

1992 1998 A

Maluml  Palrechamicals| Exploration  Natwsl  Patrocheiticals
iGns (52 50 (&) G (45 {44

Industry Sector (no. of companies)

M Revenue B Operating Profit

Minutes
Remaining

Question: 2

If revenue for the Matural Gas sector as a whale
decreased by 15% between 1992 and 1995, by
what percentage has Compail's share of the Matural
(5as market grown?
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US Dollar ($1,000 million)

@ Test
ed YT

Compoil Subsidiaries

i 1992 1998

8.0

L Eeploration  Maluml  Pelrechamicals| Esxploration  Matwsl  Patrocheiticals
- () {ans (52] {0 L0 Gins (45) {4

Industry Sector (no. of companies)

M Revenue B Operating Profit

Minutes
Remaining

Question: 3

Which Industry Sector in which year generated the
greatest Operating Profit per company?
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uestion: 4
Projected Consumer Goods Exports Q

600 - ,
T At one time Hong Kong's consumer goods exports
= ong Kong : . ;
S 500 were projected to nise at 20% per year from Y +2
= 420 450 | @ singapore onwards. According to this projection, what waould
'E"*WD be the value {in $m HKKD) of Hong Kong's exparts in
= 330 2 Y447
S 300
o 30
=y
£
2 200
o
§ 100
B 70 a0 E
D | 1 | |
¥ ¥Y+1 Y42 Y+3 Y+
Year
Exchange Rates for YearY

$4.50 Hong Kong Dollar (HKD) = $1 Singapore Dollar (SGD)
$1.60 Singapore Dollar (3GD) = $1 US Dollar (USD)
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L felp J megreos IARMAARANAAAAANNNNNNY Remaining @

Question: 5
Projected Consumer Goods Exports
600 - . ;
= I Hong Kong Assuming a constant exchange rate, what is the
6 500 projected value of consumer goods exports from
= o 450 | @ singapore Singapare in Y+ (in $m SG0)7
= 400
£ e _p—%
8 30
=y
£
2 200
o
E 100
.
60 70 o0 s
D | 1 | |
Y Y+1 Y+2 ¥+3 Y+d
Year
Exchange Rates for YearY

$4.50 Hong Kong Dollar (HKD) = $1 Singapore Dollar (SGD)
$1.60 Singapore Dollar (3GD) = $1 US Dollar (USD)
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Orders Placed with A.H. Engineering Question: 7
; _ Undercarriage

Turbine Blade  Gyroscope Piston If Luftgut increased their Unit Order of Turbine
Eastlands 0 15 0 Blades by 7%, approximately how much would they
Luftgut 18,500 45 00 need to pay for Turbine Blades?
Mippon Al 2440 ] a0
Russair 8,700 21 f4 o
Frontier 13,200 1] 145 £3,550,000
Frice per unit () £475 £21,500 £795 o £5.102 000

Exchange Rates for Sterling (£) o £ ,348,000
One pound (£) = 1-Jan 1-Apr o £8 413 000
Eurn 1.480 Vbt 1.58 : '
Japanese Yen 191 47 175,81 163.33 o £13 796 000

LIS Dollar 1.65 1.61 1.60
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Test | Minutes
@ Progress L“jl“." PPPPPPFPPREPP Remaining @

Orders Placed with A.H. Engineering Question: 8

Turbine Blade  Gyroscope UndEriEaurrrllage What percentage of the total price of the Frantier
Eastlands 0 15 0 order can be attributed to Undercarriage Fistons?
Luftout 18,500 45 200
Mippon Al 2440 ] a0
Russair g, 700 21 ad
Frontier 13,200 1] 145
Frice per unit (£ E425 £21,500 £245

Exchange Rates for Sterling (%)

Dne pound () = 1-Jan 1-Apr '
Euro 1,50 1,52 1,69 o -
Japanese Yeh 191.47 17581 163.33

LIS Dollar 1.65 1.61 1.60
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Operating Performance for International Paper Goods {IPG) Question: 13
ELF million) e B e B What was the average annual percentage growth in
Met sales 1600 2158 2468 23758 2508 2,704 Met Sales for 1933 and 20007
g;lzt”fg””dﬁ 1089 1487 1661 1508 1568 1716
Sales margin 557 b1 a86 =15ty 022 443
Fixed costs 289 411 h81 578 592 506

Operating cash

222 260 304 2849 ik a87
Tl
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! Test | Mirites
@ Progress ll‘l“ldl‘il'l‘l“‘d IFFFRIRY Remaining @

Operating Performance for International Paper Goods {IPG) Question: 14

EUR million) 1995 1996 1997 1998 19

Expressing Sales Margin as a percentage of Met

Met sales 1600 2158 24R3 2375 2408 2709 sales, what was the change in this percentage fram
1997 to 1595957

COSOTE000S g 099 1487 1661 1508 1568 1,716

Sales margin 511 B71  88E  BET 922 9493 o 4% drop
Fixed costs 289 411 582 A7E 592 505 o 2% drop
J0oraltg tash 337 260 304 zew 33 347 o Mo change

Tl
o 2% rise
o 4% rise
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! Test | Mirites
@ Progress l‘l‘ildl‘ill‘l’“ll‘ 1111111 Remaining @

Operating Performance for International Paper Goods {IPG) Question: 15

EUR million) 1995 1996 1997 1998 19

If the percentage decrease in Operating Cash Flow
Met sales 1600 2158 24R3 2375 2408 2709 far 1997 to 19598 continued at the same rate, haw
many mare years would elapse before it fall below

COSOE00NS g 099 1487 1661 1608 1588 1,716 1996 levels?
Sales margin 557 b1 a86 =15ty 022 443 !
Fied costs 289 411  §82 578 592 506

Operating cash

222 260 304 2849 ik a87
Tl

4

Cannot say
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Today's Exchange Rates* for the Indian Rupee

World
Bank
Index

Closing
Paoint High Low

Today's Today's Change
on Day

stetling f6.58 f6.85 54 96 +(.34 53.89

L5 Dollar  34.82 36.13 34.82 -0.64 34.51

Euro 37.29 28.96 35.94 +1.34 3542

TEN 0.32 0.34 0.30 -0.02 0.30

Yrates 2 numberof Rupee per stated cumeroy

Minutes
Remaining

Question: 16

Which currency loses the greatest proportional
value against the Rupee when using the YWorld

Bank Index instead of today's closing exchange
rate?
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Today's Exchange Rates* for the Indian Rupee

Closing Today's Today's Change "’E"f:;ti

Paoint High Low on Day Index

Sterling A6.58 a6.85 h4 496 +0.34 53.85
S Dollar 3482 3613 3482 -0.64 34.51
Euro ar.24 38.86 35.94 +1.34 35.42
YEen 0.32 0.34 0.30 -0.02 0.30

Yrates 2 numberof Rupee per stated cumeroy

Minutes
Remaining

Question: 18

Lzing the World Bank Index, how many US Dollars
would buy the same amount of Rupees as BbZ2 600
en?

o Mone of these
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@ Progress h‘l“liill‘"'l‘ill‘l‘]] Remaining @

Philippine Economic Summary Auestion: 20

1997 1998
k.00 k4.34 80.19 24.00

Total GDF
(51,000 million)

GOP per head of
population (%)

GOP growth per head
(% change p'.a.j

Unemployment rate
(% of moddorce) 8.7% 10.0% 10.5% 15.0%

What was the GDP per Head of Population in 19967

1,100 940 1,188 1,200

10.0%  -10.0% 20.0% 1.0%
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Test | : | Mirtes
@ Progress h‘l“liill‘"'l‘ill‘l“] Remaining @

Philippine Economic Summary Auestion: 21

1997 1008
Total GOP In which year was the greatest number of people
(51,000 million) kpHl DA 201 A unemployed in the Philippines?
AR 1100 980 1,188 1,200

population (%)
GOP growth per head
(% change p'.a.j

Unemployment rate
(% of moddorce) 8.7% 10.0% 10.5% 15.0%

10.0%  -10.0% 20.0% 1.0%
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Mobile Phone Networks: Commnet & Intercall

100%

60%

40%

20%

0%

e RARIANAAARAAAARAAAY

Commnet
{10 million users)

21%

Intercall
(5 million users)

I Rest
of Europe

M ttaly
B UK

France

B Germany

Minutes
Remaining

Question: 4

By how many users does Commnet exceed
Intercall in Germany and France combined?
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)

Mobile Phone Networks: Commnet & Intercall

100%

60%

40%

20%

0%

o ARRIANAAARAARARAANY

B Germany

(10 million users) (5 million users)

Minutes
Remaining

Question: 5

If Commnet has 1.5 times the number of business
customers as Intercall, how many nan-business
customers does Intercall have in Eurape?
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L felp J ey TN Remaining @

Mobile Phone Networks: Commnet & Intercall HHBSHORO

100% In which region does Commnet not have mare users
" Rest than Intercall?
of Europe
BO% Ital o
B aly ..:'J Rest of Europe
&L -
B0% France ;
O «
21%
el 3 o France
° (Germany
20%

0%
Commnet Intercall

(10 million users) (5 million users)
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Hardlow GRT

4 Test '
@ Proigfees Llulnl;lnl;lu_uuuumu

Company Figures at the end of the current financial year

i bl ¥iang IKOInc Aurore
Turnover (em® 11.4 160.7 2.3 7.3 G0.0
Profit (£m™ H.2 -33.8 -1.4 3.0 H.3
Assets Em™ 42.3 6401 2452 271 1307
Ciebt gm™ 97 341.0 T 8.2 308
Share Price (pence) 108.0 1721 B.0 11.3 8.7
Mo, of Shares () 0.5 2iF 0.9 32 e

Minutes
Remaining

Question: 7

If ®xiang's Turnaver is down 7% fram the last financial
year, what was the Turnover far that year?
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Hardlow GRT

[II.IIILIIH.I.JH.HH.I.HJH

Company Figures at the end of the current financial year

i bl ¥iang IKOInc Aurore
Turnover (em® 11.4 160.7 2.3 7.3 G0.0
Profit (£m™ H.2 -33.8 -1.4 3.0 H.3
Assets Em™ 42.3 6401 2452 271 1307
Ciebt gm™ 97 341.0 T 8.2 308
Share Price (pence) 108.0 1721 B.0 11.3 8.7
Mo, of Shares () 0.5 2iF 0.9 32 e

Minutes
Remaining

Question: 8

Which company has the lowest Turnover per share?

o Hardlow plc
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& Test ' hMinutes
@ Progress Llulnldnlﬂﬂmmumu Remairing 0

Company Figures at the end of the current financial year Question: 9
Hardlow GRT i
pic plc Amang: -JEOMC: furore Withich company has the highest Turmover/Azsets
Turnover Em 11.4 1607 23 103 RO.0 ratio?
Frofit cem™ 82 -33.4 -1.9 3.0 4.3
Assets (Em®) 4273 fd0.1 262 271 130.1 o Hardlow plc
Debt em™ 97 30 17 g2 308 o GRT ple
Share Price (pence) 108.0 1721 f.0 193 487
Mo. of Shares (my 0.5 2.7 0.9 3.2 72 ° Alang
o & o
_:‘_J Aurore

[« |
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Today's Exchange Rates* for the Indian Rupee

World
Bank
Index

Sterling G6.58 f6.85 54 .96 +0.34 53.89

Closing Today's Today's Change
Point High Low on Day

L5 Dollar 3482 2613 34,82 -0.64 24.51

Euro ar2s 28,86 35.94 +1.34 3942

b =lil 0.32 0.34 0.30 -0.02 0.30

Yrates ame number of Rupee per stated curercy

Minutes
Femaining

Question: 13

If the exchange rates far Sterling and Eura continue
to increase every day by the same amount of
FHupees as today, in how many more days would a
Eura buy mare Hupees than one pound Sterling?

o
20
30
40

a0

[« |
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Online MNumerical Reasoning Test

Part— N 2 BB

4

5

This is a
timed test,

IZEI:EIEI

¥iew Instructions

INSTRUCTIOMNS

The following test assesses your ahility to use and reason with charts, araphs, and tabhles containing
numerical information. Each chart, graph, or table is followed by four questions that can be answered
using the information given. You must choose the correct answer from the six options provided,

Look at the following example: Turnover for ¥arious Local Stores 1998-2000

Store 1998 1999 2000 e
Corma Beds 1,000,000 1,100,000 1,400,000
Fantons S00,000 400,000 S00,000
Wolf Records 00,000 200,000 1,000,000
Brenthams 1,000,000 200,000 Soo,.o00
Patel's 420,000 400,000 220,000
One to Call 1,200,000 200,000 S00,000

El. ‘“What store had the biggest increase in turnover betweesn 1993 and 19997
[j&," Dorma Beds @,‘J Fentons @ \Wolf Records

oan

EE\J Brenthams LE T Patal's 'fE‘:l One to Call

E2. “What store had the bhiggest decrease in turnover between 1999 and 20007 J

':é:' Dorma Beds ':E:' Fentons 'i(:):' Wwolf Records

'@:' Brenthams L/E:' Patel's ® COne to Call

The correct answers have been selected and are highlighted in yellow,

The answer to E1 is {(C), Wolf Records' turnover increased from 600,000 to 900,000, an increase of
300,000,
The answer to E2 is (F), One to Call's turnover decreased from 900,000 to 200,000, a decrease of
100,000,

&] Listo

[ | | |4 ntermet
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Online Mumerical Reasoning Test This is a Help
tirm=ed t=st, Wiewr Instructions
part— [l 2 2 2 s |1 9:16
Actual Sales and Projected Sales by Region (1999 2 2000)
Region Actual Sales "O0 Actual Sales 2000 Projected Sales "0 Projected Sales 2000 Total
L] [(F) [(E) (F) Staff
South-YWest 1,950,000 1,300,000 1,450,000 1,750,000 =5
Midlands 12,000,000 14,050, 000 12,500,000 12,550,000 100
rorth-East <, a00,000 <,.830,000 . &00,000 <, 8200, a00 50
South-East & London 28,306,000 25,000, 000 27,000,000 =26, 500,000 450
morth-wWest S, 500,000 S,.750,000 <,9350,000 S,.500, 000 <0
Wales SSOo, oag Soo, aag =240,.000 oo, oo 12

VWlbiat would be the actual sales for the HNorth-East in 2001 if the actual sales increased
by the same percentage as they did from 1999 to 20007

(A) £4,877,500 £4,950,000 (C) £5,010,500

<
(D) £5,060,000 (E) £5,071,500 (F) £5,097,500

Which region showed the lowest difference between actual sales and projected sales
adding the figures for 1999 and 2000 together?

@ South-\West Midlands @ HMorth-East J

4 >

South-East &

Landan @ MNorth-Ywest ® W ales |

-
Wihich region had the lowest projected sales per staff member in 19997 _I
@ South-vwest Midlands @ MHorth-East

< >

=1 th-E t 2

I_DDrI::an a5 @ Morth-west ® Wilales

E=] [ | e nternet i
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tirm=ed t==t. Wiewrr Instructions

Part— i & = 2 s |15:|:I|:I

ggg | Turnowver and
w 200 Costs
= 400 (1992-2000)
&= SO0 -
200 4 —— Turnow er
103 1 —m— Costs
1992 1993 1294 1995 1996 1997 1993 1999 2000
=1
E-E;:Ee?en wrhich of these two vyears was there the greatest percentage increases in _I
< (A} 1992-1993 1994-1995 (C) 199s5-199s S
(D) 199&6-1997 (E) 1997-1993 (F) 1999-zoono
Currency Exchange Rates
Date August 2000 August 2000 August 1999
Currency Per £100 Per $100 Per $100
French Francs 1088 748 645
German Marks 320 220 192
Irish Punts 130 87v.50 77.50
Italian Lira 316,000 215,000 190,000
Japanese Yen 16,000 10,200 a2, 640
Spanish Pesetas 27,000 18,000 15,900
Pounds Sterling 100 67.50 60,50
wihich of the following is worth the least in dollars ()7
(A) £158 (Aug 1999] gégcﬁmm (Aug (C) £157 (aug 20007 r
e ?gggjﬁ pesetas (AuQ @ gggg?ﬂ lira (&g ® $246 (Aug 2000)
An American businesswoman bought 17,884,800 Yen in Aug 1999, How much less {in §)
would she have to pay on &ug 2000 to buy the same amount of yen? —
() g414 §741 (C) $1558 ;

(D) $7480 (E) $10620 (F) $41400




